ECG Take-Home Quiz #2

EACH QUESTION IS WORTH ONE POINT. Please print and
complete this quiz, and turn it in on the assigned date.
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2.
3.
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The cardiac cycle is best defined as

refers to amount, extent, size,
abundance, or fullness of a spike on an ECG.
The standard ECG is composed of six

leads, three and three
leads.
The pulse is felt after the contract.
Three types of artifact are: ,
, and .
The duration (or time) of any wave may be determined by
measuring along the axis.
Another name for the AV node is the
There are small boxes in each large box on ECG
paper.
. Each small box is of a second.
Blood flows from the right side of the heart through
the into the lungs, then it flows
through the into

the left side of the heart.



